Observe the relationship in the first pair of words and complete the second pair

VII.

accordingly in the following : 4x1=4
48. Meet : Meat ; Blue: ....oooiviiiiiiini, .

49. Admit : Admission ; Discover @ ....cooiveviininnnnn. .

50. Beautiful : Beauty ; Simple @ .oooiiiiiie .

51. Late: Gate ; Wine : .oooviviiiiiiiiininn, .

Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its letter of alphabet :

10x 1 =10
38. She often quotes ......c..ceveveiniinn.n. Shakespeare.
The most appropriate preposition to be filled in the blank is
(A) from (B) with
(C) to (D) for.
39. Gandhiji, more than any leader, ..................... India’s struggle for freedom.

Fill in the blank with the appropriate form of the verb.

(A) symbol (B) symbolizes
(C) symbolize (D) symbolic.
40, e our many faults, our parents love us.

Choose the most appropriate alternative and fill in the blank.
(A) Besides (B) In spite of
(C) Even though (D) Having.
41. She was an elfin pinnace.
The figure of speech used here is
(A) Simile (B) Metaphor

(C) Alliteration (D) Personification.



42.

43.

44.

45.

46.

Mount Everest is .....cccccoevveienenins tallest peak in ...........c........ Himalayas.

The correct set of articles to be used here is

(A) a, the
(B) the, a
(C) the, the
(D) a, an.

When he saw her courage, he felt ashamed of his own ..................... .
Fill in the blank with a suitable antonym of the word underlined.

(A) encourage

(B) discourage

(C) coward

(D) cowardice.

Dr. Jenner in England had already discovered vaccination for small pox.

The passive form of the above sentence is

(A) Vaccination for small pox was already discovered by Dr. Jenner in

England.

(B) Vaccination for small pox had already been discovered by Dr. Jenner in

England.

(C) Vaccination for small pox has already been discovered by Dr. Jenner in

England.

(D) Vaccination for small pox is already discovered by Dr. Jenner in

England.
She sang melodiously, ...................... .
The appropriate question tag to be used here is
(A) doesn’t she ?
(B) didn’t she ?
(C) did she ?
(D) does she ?
Darjeeling is more beautiful than any other hill station in India.
The positive degree of the above sentence is
(A) No other hill station in India is more beautiful than Darjeeling.
(B) Very few hill stations in India are as beautiful as Darjeeling.
(C) No other hill station in India is as beautiful as Darjeeling.
(

D) Many other hill stations in India are as beautiful as Darjeeling.



47. As we were tired, we went slowly.
The simple form of this sentence is
(A) We were tired and we went slowly.
(B) Being tired we went slowly.
(C) We were tired, so went slowly.

(D) We went slowly because we were tired.



